Name _	
Period	

This part of the review should be done with NO CALCULATOR

1. Solve:
$$2x^{2} - 3x + 2 = 3x - 6$$

 $2x^{2} - 6x + 8 = 0$
 $x^{2} - 3x + 4 = 0$
 $\chi^{2} - 3x + 4 = 0$
 $\chi = 3 \pm \sqrt{9 - 16}$
2. Solve: $(x - 2i)^{2} = -9$
 $x^{2} - 4ix + 4i^{2} = -9$
 $x^{2} - 4ix + 9 = 0$
 $\chi^{2} - 4ix + 5 = 0$
 $\chi = 4i \pm \sqrt{(-4i)^{2} - 4(i)(5)}$
 $= \frac{4i \pm \sqrt{-16 - 20}}{2}$
 $= 4i \pm \sqrt{-36} = 4i \pm 6i = \sqrt{5i, -i}$

3. Find the polynomial function of least degree with real coefficients in standard form with zeros -2, 3-i, and f(2)=8.

$$f(x) = \alpha (x+2) (x - (3-i)) (x - (3+i))$$

$$= \alpha (x+2) (x^{2} - (3+i)x - (3-i)x + (3+i)(3-i))$$

$$= \alpha (x+2) (x^{2} - 3x - ix - 3x + ix + 10)$$

$$= \alpha (x+2) (x^{2} - 6x + 10)$$

$$g = g \alpha$$

$$g = \alpha (2+2) (2^{2} - 6(2) + 10)$$

$$= \alpha (4) (2)$$

$$= \frac{x^{3} - 6x^{2} + 10x + 2x^{2}}{x^{3} - 4x^{2} - 2x + 20}$$

4. For:
$$f(x) = x^4 + x^3 - 6x^2 - 14x - 12$$

a) Find the zeros of $f(x)$

5. Find the zeros of $f(x) = x^4 - 2x^3 + 8x^2 - 6x + 15$ given that 1 - 2i is a zero of f(x).

$$\begin{pmatrix} x - (1-2i) \end{pmatrix} \begin{pmatrix} x - (1+2i) \end{pmatrix} = x^{2} - (1+2i) x - (1-2i) x + (1+2i) (1-2i) \\ = x^{2} - 2x + 5 \\ x^{2} - 2x + 5 \hline x^{4} - 2x^{3} + 8x^{2} - 6x + 15 \\ -(x^{4} - 2x^{3} + 5x^{2}) \\ 3x^{2} - 6x + 15 \\ 3x^{2} - 6x + 15 \\ 3x^{2} - 6x + 15 \\ 0 \\ \hline \\ \end{bmatrix} \begin{pmatrix} x^{2} + 3 = 0 \\ x^{2} = -3 \\ x = \pm \sqrt{-3} = \pm i\sqrt{3} \\ (0r - Use - Q.F.) \\ \hline \\ \\ \hline \\ 1-2i \\ 1 + 2i \\ i\sqrt{3} , -i\sqrt{3} \\ \hline \\ \end{bmatrix}$$

6. For each of the following, state the equation of the vertical, horizontal, and end behavior asymptotes.



Identify the asymptotes.

a)
$$f(x) = \frac{3}{2-x}$$

Shift left 2
Veflect over $y = 0.5 \text{ M}$
 $yert Stretch bafe 3$
 $\sqrt{A}: y = 2$
HA: $y = 0$

b)
$$f(x) = \frac{3x+4}{x+3}$$

 $= 3 + -5$ $\begin{pmatrix} 1 \\ X+3 \end{pmatrix}$ $\begin{pmatrix} x+3 \\ 3x+4 \\ -5 \end{pmatrix}$
 $= 3 + -5$ $\begin{pmatrix} 1 \\ X+3 \end{pmatrix}$ $\begin{pmatrix} X \\ -5 \end{pmatrix}$
 $\begin{pmatrix} YA \\ X \\ -5 \end{pmatrix}$
 $\begin{pmatrix} X \\ -5 \end{pmatrix}$
 $\begin{pmatrix} YA \\ Y \\ -3 \end{pmatrix}$
 $\begin{pmatrix} Y \\ -3 \end{pmatrix}$
 $\begin{pmatrix} Y \\ Y \\ -5 \end{pmatrix}$
 $\begin{pmatrix} Y \\ Y \\ Y \\ -5 \end{pmatrix}$
 $\begin{pmatrix} Y \\ Y \\ Y \\ Y \end{pmatrix}$
 $\begin{pmatrix} Y \\ Y \\ Y \\ Y \end{pmatrix}$
 $\begin{pmatrix} Y \\ Y \\ Y \\ Y \end{pmatrix}$
 $\begin{pmatrix} Y \\$

- 9. a) Sketch the graph of $P(x) = -(x+2)^2(x-1)(x-3)$
 - b) From the graph, what is the solution of $P(x) \le 0$





10. Solve each of the following:

a)
$$\frac{2}{x-3} - \frac{x+4}{x} = 1$$
 b) $\frac{3x+1}{|x-1|} \ge 0$ c) $\frac{\sqrt{x+4}}{x^2-6x-7} \le 0$ d) $\frac{3}{x-4} \ge \frac{6}{x+1}$
 $\left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\frac{1}{3}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ 1\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} -\frac{1}{3} \\ -\sqrt{7}\end{array}\right) \cup \left(\begin{array}{c} 1 \\ -\sqrt{7}\end{array}\right) \cup \left$

11. How many different quartic equations with lead coefficient of 1 can be written with <u>only</u> the roots of -1 and 3?

$(\chi + 1)^{3}(\chi - 3)$
$(x+1)^{2}(x-3)^{2}$
$(\chi+l)(\chi-3)_3$

ſ	3
L	

This part of the review should be done with a CALCULATOR

For each of the following problems, state the window used to see the entire graph and make a sketch of the graph.

- 12. A farmer has 130 meters of fencing with which he plans to make a rectangular pigpen. The pen is to have two internal fences running parallel to the end fences that divide the pen into three sections.
 - a) Express the area "A" as a function of "x", the length of the end fence.
 - b) State the domain
 - c) Find the dimensions of the pen that maximizes the area.





- 13. You are adding x mL of pure acid to 200 mL of a 45% acid solution to increase the concentration of acid.
 - a) Express the concentration C(x) of the new mixture as a function of x.
 - b) How much pure acid must be added to obtain a solution of 68% acid?
 - c) How much pure acid must be added to obtain a solution of at least 72% acid?

